Can I add and subtract mass? (¥3)
Reasoning and prohlem solving

This page does not need to he printed. Write the date you do the work and
the ahove question in your hook, underlining them neatly with a ruler.

) The green parcel weighs 5 kg.
Can you work out what the blue and
brown parcel weigh?

7 kgand 250 g

9 kg and 400 g

How much would the green and brown
parcel weigh altogether?

2) Dora buys two peaches and three pears.

One peach weighs 75 g. @

Three pears weigh the same as two
peaches.

How much does one pear weigh?

Answers are on the next page.



Add & Subtract Mass

Reasoning and Problem Solving

The green parcel weighs 5 kg. Blue parcel = 4 kg
Can you work out what the blue and and 400 g
brown parcel weigh?

7ke and 250 g Brown parcel = 2

kg and 850 g
9 kg and 400 g
How much would the green and brown Green and brown
parcel weigh altogether? parcel = 7 kg and
850 g
Dora buys two peaches and three pears. 50¢g

One peach weighs 75 g. @

Three pears weigh the same as two
peaches.

How much does one pear weigh?



